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QUESTION 1

Which two are main drivers for changing business operations? (Choose two.) 

A. change of market trends 

B. change of competition 

C. change of application software version 

D. migration to Cisco single-vendor networking solution E. migration of the enterprise network to IPv6 

Correct Answer: AB 

 

QUESTION 2

Which three of items are components of the Cisco f time Infrastructure? (Choose three.) 

A. Cisco Prime time Security Manager 

B. Cisco Prime Network Control System 

C. Cisco Prime WAN Management Solution 

D. Cisco Prime LAN Management Solution 

E. Cisco Prime Assurance Manager 

F. Cisco Prime Network Analysis Module 

Correct Answer: BDE 

Explanation: Link : http://www.cisco.com/en/US/products/ps12239/index.html 

 

QUESTION 3

Which three are benefits of a Cisco Borderless Network that go beyond a TCO calculation? (Choose three.) 

A. high availability 

B. enhanced security 

C. cost per port 

D. integrated services 

E. lowest power consumption 

Correct Answer: ABD 

 



QUESTION 4

Which two statements correctly describe Cisco Validated Design and Smart Business Architectures? (Choose two.) 

A. CVD is technology-oriented, while SBA is market- and solution-oriented. 

B. SBA guides are available for enterprise deployments only. 

C. SBA is a blueprint for delivering the three Cisco architectures in a modular approach. 

D. Gold partners have access to a demo lab for each validated design. 

Correct Answer: AC 

 

QUESTION 5

Which two examples best describe the challenges that customers face in networks of today? (Choose two.) 

A. How can we effectively support extensive collaboration requirements, including video? 

B. How do we control energy consumption of devices that are owned by employees? 

C. Which type of firewall should we deploy? 

D. Do we need to invest in the BYOD solution? 

E. How can we disable users from using their own devices? 

Correct Answer: AD 

 

QUESTION 6

Which statement correctly describes Cisco WAAS? 

A. Cisco WAAS Mobile has the same features as Cisco WAAS and differs only in performance. 

B. Cisco WAAS Express is integrated into Cisco IOS. 

C. Cisco yWAAS can be implemented on any Cisco ISR routers. 

D. Cisco WAAS Express can run simultaneously with Cisco Unity Express on the same Cisco SRE. 

Correct Answer: B 

 

QUESTION 7

What are the two QoS features important to customers? (Choose two.)? 

A. It supports class of service. 

B. It supports traffic classification based on source MAC address. 



C. It supports traffic classification and marking. 

D. It supports traffic marking based on source port number. 

E. It supports traffic classification based on source and destination MAC address. 

Correct Answer: AC 

 

QUESTION 8

Which three are advantages of Cisco Prime LMS? (Choose three.) 

A. It comes fur free with any Cisco ISR G2 or Cisco ASR purchase. 

B. It includes Cisco Smart Business Architecture (SBA) validated templates. 

C. It provides complete life-cycle management. 

D. It includes Cisco LAN sensor licenses. 

E. It includes Cisco Borderless Networks service work centers. 

Correct Answer: BCE 

Explanation: Link: http://www.cisco.com/en/US/prod/collateral/netmgtsw/ps6504/ps6528/ps11200/data_sheet
_c78-652696.html 

 

QUESTION 9

Which statement about MACsec is true? 

A. MACsec does not work between any MACsec-capable supplicant and authenticator. 

B. MACsec provides Layer 2 hop-by-hop encryption, based on the 802.1AE standard. 

C. 802.1X protection includes the CMD field, which is used to carry the security group tag value. 

D. Cisco AnyConnect Release 3.0 supports both roles: supplicant and authenticator. 

Correct Answer: B 

Explanation: Link : 

http://www.cisco.com/en/US/docs/switches/lan/catalyst4500/15.1/XE_330SG/configuration/ guide/swmacsec.html 

 

QUESTION 10

Which Cisco switches support MACsec? 

A. all Catalyst switches 



B. only on Cisco Nexus Switches 

C. only on Catalyst 3560-C Series Switches and above 

D. only on Catalyst 6500 Series Switches 

Correct Answer: C 

 

QUESTION 11

Which three are challenges that are related to video deployments that are addressed by borderless network services in
Cisco routers and by Cisco MediaNet? (Choose three.) 

A. bandwidth issues 

B. difficult video performance monitoring 

C. difficult configuration of new video devices 

D. intermittent broadcast signal 

E. Lack of MACSec support on remote video terminals 

F. Lack of high-definition video terminals 

Correct Answer: ABC 

 

QUESTION 12

Which three best describe the Cisco Borderless Network Architecture? (Choose three.) 

A. A Cisco Borderless Network Architecture providers borderless network services. 

B. User services are not part of the Cisco Borderless Network Architecture. 

C. Routers and switches provide transport services and operate at Layer 2 and Layer 3 of the Cisco Borderless Network
Architecture. 

D. Infrastructure and network services are the basis for user services. 

E. A Cisco Borderless Network is based on a common network infrastructure. 

Correct Answer: ADE 
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